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MJ-1191 
B.Com. (Part-1) 

Term End Examination, March-April, 2022 

Paper - I 

TFE Business Mathematics 
FT TF FF FPRE STFe 1 Tpt STF PE Cr 

[Maximum Marks : 75 
[Minimum Pass Marks : 25 

Time: Three Hours] 

Note Answer all questions. All questions carry equal 
marks. 

31/Unit-I 

7x + 3y-44 0 

3x 2y-9 = 0 

114 JDB *_(7) (Turn Over) 



(3) 
(2) 

Find the value of 

Find the value of '*' and y' by Comparison 

method , 
"1.235 7x+3y-44 0 

3x-2-9-0 3raTOR 

37UTOR 
I2-3 3-1 

zf A=5 0 2 74T B =4 
0 

12 T frm3Tg 3TÀ F T 

, A+ 2C B c A 

I2-3 
If A=5 0 2 and B =4 2 

A father's age is 3 times of his son. After 12 

years father's age will be twice that of the 2 0 1 -1 
son. Find their present ages. 

Find A+2C = B the value of C. 

41/Unit 
FHT/ Unit-lll 

2. 

11235 4 q 7 28,750 ai TNI? 

114 JDB _(7) (Turn Over) 

114 JDB_X_(7) (Continued 



(4) (5) 

What sum will amount to F 28,750 in 4 years times than what C and A get combined and 

B gets 4 times to C and C gets l times to @8% per annum compound interest? 

D. 
370OTOR 

3reaTOR 

Àfa 17 a a T 38,000 F64,640 16 T, 12 HECT a7 10 

377 7:5:3 3 TI 
The rate of interest in a bank is 9% per annum 

Distribute 64,640 amongst 16 men, 12 

women and 10 children in such a way the 
compounded continuously. What should be 

invested per year in a savings account to get 

38,000 at the end of 17 years? 
ratio between a man and a woman and child 

is 7:5:3. 

FhTUnit-IV 3461/ Unit-V 

4. 7,860 A, B, C i D a T 

IAIR qui 43.7 7 71 41.2 2 

37417 T 4T: 7 33,250 77 32,000 9T 

Divide 7 7,860 between A, B, C and D in 
such a way that A and B combined get 3 

114_JDB_*_(7) (Continued) 114 JDB *_(7) (Turn Over) 



(6) 
(7) 

The Manager of a mining company is paid a 

Destination 
D D2 Da DA Supply fixed monthly salary plus commission at a 

Source 
fixed rate per ton of output. If the Manager 

11 10 8 7 20 receives altogether 33,250 and 32,000 on 

9 12 14 6 40 
consecutive years against the output of 

43.7 ton and 41.2 ton respectively, find the 

8 9 12 10 35 rate of cormission and the monthly salary 
Demand 16 18 31 30 9 paid to him. 

37YTOOR 

ifaa D,D D Df 
8 117 20 10 

91214 40 6 

9 12 10 35 8 

aiT 16 18 31 30 95 

Solve the following transportation problem by 
Vogel's approximation method: 

114_JDB_*_(7) 
(Continued) 

114_JDB_x_(7) 2,680 
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